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ON

Marks

PART-A

I. Multiple Choice Questions

d. Providing employment opportunities

a. Transfer

c. Abraham Maslow

b. Setting Performance Standards

g1l | W] N|

b. Cash in hand

N N Y Y =

Il. Fill in the Blanks

Managerial Principle

Budget

Delegation

O| 0| N| O

Sender

10

Publicity

R R R R, -

Ill. Match the following

11

a. Tax Administration measure

b. Assumptions about future

c. Product specialisation

d. Putting people to jobs

e. Component of physical distribution

N N B I

IV. Answer in One Word or Sentence

12

Management of work / Management of people / Management of operation (Any one)

13

Henry Fayol

14

Capital structure refers to the mix between owners fund and borrowed funds

15

The production concept / The product concept / The selling concept /
The marketing concept / The societal marketing concept (Any one)

R R PR

16

(as per 2019 act) Up to 1 crore / ( as per 2021 Amendment) Up to 50 Lakhs

PART-B

V Answer any Six in two or three Sentences each

17

(i) Co-ordination integrates group efforts

(ii) Co-ordination ensures unity of action

(i) Co-ordination is a continuous process

(iv) Co-ordination is an all-pervasive function

(v) Co-ordination is the responsibility of all managers
(vi) Co-ordination is a deliberate function (Any Two)

1+1

18

An organisation consists of superiors and subordinates. The formal lines of authority from highest
to lowest ranks are known as scalar chain.

19

a) Objectives b) Rule

20

According to Theo Haimman “Organising is the process of defining and grouping the activities of
the enterprise and establishing authority relationships among them.”
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21

Orientation is introducing the selected employee to other employees and familiarising him/her with
the rules and policies of the organisation.

22

(i) Autocratic or Authoritarian leader (ii) Democratic or Participative leader
(i) Laissez faire or Free-rein leader (Any Two)

23

(i) Accomplishing organisational goals

(i) Judging accuracy of standards

(i) Making efficient use of resources

(iv) Improving employee motivation

(v) Ensuring order and discipline

(vi) Facilitating coordination in action (Any Two)

24

i) Cash flows of the project
ii) The rate of return
iii) The investment criteria involved (Any Two)

1+1

25

i) Refrigerator, Radio, Bicycle, Sewing machine, or any other two

1+1

26

() To remove the defect in goods or deficiency in service.

(ii) To replace the defective product with a new one, free from any defect.

(i) To refund the price paid for the product, or the charges paid for the service.
(iv) To pay a reasonable amount of compensation for any loss or injury.

(v) To pay punitive damages in appropriate circumstances.

(vi) To discontinue the unfair/ restrictive trade practice (any two or any other two)

1+1

PART-C

VI Answer any Six in 10 or 12 Sentences each

27

(i) Science, not rule of thumb

(i) Harmony, not Discord

(iif) Co-operation, not individualism

(iv) Development of each and every person to his or her greatest efficiency and prosperity (with
brief explanation)

2+2

28

(i) It enables the firm to identify opportunities and get the first-mover advantage
(ii) It helps the firm to identify threats and early warning signals

(iii) It helps in tapping useful resources

(iv) It helps in coping with rapid changes

(v) It helps in assisting in planning and policy formulation

iv) It helps in improving performance (any four points with a brief explanation)

2+2

29

a) Economic Environment (Brief Explanation)
b) Legal Environment (Brief Explanation)

1+1
1+1

30

(i) Planning focuses on achieving objectives

(i) Planning is a primary function of management

(i) Planning is pervasive

(iv) Planning is continuous

(v) Planning is futuristic

(vi) Planning involves decision-making

(vii) Planning is a mental exercise (any four points with a brief explanation)

2+2

31

(i) Classroom Lectures/Conferences

(ii) Films

(i) Case Study

(iv) Computer Modelling

(v) Vestibule Training

(vi) Programmed Instruction (any four with a brief explanation)

2+2

32

(i) Difficulty in setting quantitative standards
(ii) Little control on external factors

(iif) Resistance from employees

(iv) Costly affair (with a brief explanation)

242
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33|Fixed Capital is Required 1+3
i) Nature of Business

ii) Scale of Operations

iii) Choice of Technique

iv) Technology Upgradation

v) Growth Prospects

vi) Diversification

vii) Financing Alternatives

viii) Level of Collaboration (any three with a brief explanation)

34|(i) The brand name should be short, easy to pronounce, spell, recognise and remember (1+1
(ii) A brand should suggest the product’s benefits and qualities. It should be appropriate to the 1+1)
product’s function.

(iif) A brand name should be distinctive

(iv) The brand name should be adaptable to packing or labelling requirements, to different
advertising media and to different languages.

(v) The brand name should be sufficiently versatile to accommodate new products, which are
added to the product line e.g., Maggie, Colgate.

(vi) It should be capable of being registered and protected legally.

(vii) Chosen name should have staying power i.e., it should not get out of date.

(Any Four)

35]i) Advertising is an impersonal form of communication. Where as Personal selling is a personal (1+1
form of communication. 1+1)
ii) Advertising involves transmission of standardised messages and In personal selling, the sales
talk is adjusted keeping view customer’s background and needs.

iii) Advertising is inflexible as the message can’t be adjusted to the needs of the buyer. Personal
selling is highly flexible. As the message can be adjusted.

iv) Advertising reaches a large number of people. In Personal Selling Only a limited number of
people can be contacted because of time and cost considerations.

(or any other four differences)

36(i) Rightto Safety 2+2
i) Right to be Informed

iii) Rightto be Assured / Choose

iv) Right to be Heard

V) Right to seek redressal

vi) Right to Consumer Education (any four with a brief explanation)

VII Answer any 3in 20 or 25 Sentences each

37{(i) Planning (ii) Organising (iii) Staffing (iv) Directing (v) Controlling (with Explanation) 3+5

38|Advantages of Formal Organization: 5+3
(a) Itis easier to fix responsibility since mutual relationships are clearly defined.

(b) There is no ambiguity in the role that each member must play as duties are specified. This
also helps in avoiding duplication of effort.

(c) Unity of command is maintained through an established chain of command.

(d) It leads to the effective accomplishment of goals by providing a framework for the operations
to be performed and ensuring that each employee knows the role he must play.

(e) It provides stability to the organisation. This is because the behaviour of employees can be
fairly predicted since there are specific rules to guide them.
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Limitations of Formal Organization:

(a) Formal communication may lead to procedural delays as the established chain of command
has to be followed which increases the time taken for decision-making.

(b) Poor organisation practices may not provide adequate recognition to creative talent, since it
does not allow any deviations from rigidly laid down policies.

(c) Itis difficult to understand all human relationships in an enterprise as it places more emphasis
on structure and work. Hence, the formal organisation does not provide a complete picture of how
an organisation works.

39

(i) Preliminary Screening

(ii) Selection Tests

(iif) Employment Interview

(iv) Reference and Background Checks

(v) Selection Decision

(vi) Medical Examination

(vii) Job Offer

(viii) Contract of Employment (with Brief Explation)

4+4

40

(i) Maximum individual contribution

(i) Harmony of objectives

(i) Unity of Command

(iv) Appropriateness of direction technique
(v) Managerial communication

(vi) Use of informal organisation

(vii) Leadership

(viii)Follow through (with Brief Explanation)

4+4

41

The amount of money paid by a buyer (or received by a seller) in consideration of the purchase of
a product or a service is called Price.

Factors Affecting Price Determination:

1. Product Cost

2. The Utility and Demand

3. Extent of Competition in the Market

4. Government and Legal Regulations

5. Pricing Objectives

6. Marketing Methods Used (with Brief Explanation)

1+3+4
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GOVERNMNET OF KARNATAKA

KARNATAKA SCHOOL EXAMINATION AND ASSESSMENT BOARD

Scheme of Evaluation Business Studies (27) (Kannada Version)
1 PU Exam 01 March 2025

QN Marks
PART-A
I. Multiple Choice Questions
1|d. POTRLMOTTOINTT), LWBNBOTIW 1
2|a. Snorss 1
3[c. w0 TeARE 1
4(b. BoDFABFBBOD ST[AD, AGFFODYT: 1
5(b. %o&ac:g)dad IR 1
Il. Fill in the Blanks
6|RmF o™ 3% 1
7|=vonzwe, 1
8|B8dcdmens 1
9|c=edmes 1
10[Be300 1
Ill. Match the following
11]a. 3oR =393 3= 1
b. FORZ, BOWOHAT LB 1
C. 9O3E, e 1
d. 3oRnRer xITH, VWORHYI 1
€. 583 NITHBOD FUWI0I 1
IV. Answer in One Word or Sentence
123030 AnFTH / wﬁiﬁ@é VRETE / ToO3TF3THBNY AW T (OSTVR)TOTTL  WOT) 1
13|23, Podweer 1
14[200T839¢ TS 0TT &RIEFT AL B TR APNY SRS NTJEITONT. 1
15(0vZo0m0 TOBON / WWISI T BTOFOS / [INE TOTOP / [T TFOIT TOTOS 1
AOTPDBE [PV TYOIT TOTOT (OIIYTOTBIR  2.0T)
16(2019T i'seof’% TFo0 Sw. 1 3Red=TR. / 20218 @cs%m TFOT Tw. 50 ogﬁ%ﬂwﬁﬁ. 1
PART-B
V Answer any Six in two or three Sentences each
17[1. RDZODICE M0 ROTR0RD, ROCIREBIIT. 1+1
2. RYoDIon §0H0BH IO, DeSTREYAHIT
3 5:0%05330533 QT03IT TFEHoITPNTS
4. BRFONIN TOTJEET FOODE WINT
5 5&3%033@’0333 DY aéwmcpwsd %3023 DO3IPNT3
6. xmsxojséofm NTEITRTJEE TOODNFTINT (CIPRYTIVTTL TW)
18|c3e)Te 2.0 xo:}pom BeOPTOND B, VO BHTONTI, TRODT. ORIZ 3eed003 2

@08 IYNT Jeednt BT0T WOTITT [NFHR, Jeedes 3 FOTP DWB/R.
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19|a) VT LB b) 203>
20[*mozedmndodN mﬂ@os:) %?O&Fzémwﬁgﬁ%im% WRETDVAA BB, MOTDNRRR, BRNG ©HTT
ROWOBNET, m@&mw 20T TFOHOIPNT.” — Hodwe é@@aa@
21 @apéisadodd, ejoﬁ%omw @%dd?’n& QBT FOITON DOBWONRRT Ton mﬂ@o& DONTALD B 2
DeSNID, SYRPYTONT.
22|l FeREHTO / ATORTVYHTO J0ONT 1+1
2. gmgmgma 9300 ZTONWLAT JvONT
3. [NT Qe300 VPO AON0TEI—-NTIOL JPONT (VPRYTIVTWTR DTW)
23]L zowumsg mamm& TRORT)T0 1+1
2. MY QDTIONT), VEIFORRYTI
3. xoajmeowma BTN NOTOIRENTTHTH
4. BREN BeSCTERBODT), YTTRRYROTYT
5. \5;;;&%3 BB AFZ, WOBORRYRO[T
6. TONFTY TIJODIODT), FFITONTTT (CIPFYTHTWEL DTHE)
24[1. O3peR3 TONFT INDS O 1+1
2. TP =T
3. WHRROT TRAFOCD TPITOTBNRLY (C3RRTOTIR FTED)
25[0223Bee3c®, SeRadne, ?,352)5@9, BRIR 00T, (V3T CTOTYTIOTITR DTW) 1+1
26|1) TTEZQHH méséosmel ©PD0 ACRONYT %@déoﬁoab% BRTENTORR0S, 1+1
2) BRXTROZ IWIT WBIR BRRTHI[T BRBTZ, VCWROE,
3) IWIR TTEAT TOBJ), BB e[ AeRT BRI, WTRTE BRBWTOE,
4) QWL FITTT JVFFOOT WHFBTIVT WVPIIT BRRTE IR WP TN FRORITOT
TOBOTIZ), TRBERR0S,
5) RBRTHT BOTHFNYY TOBTVITF TOTOTIR, TOWERTOS,
6)©TWONTO ATRNYI), BT, ABTOZ (CIPIYTOTTIR DTW)
PART-C
VI Answer any Six in 10 or 12 Sentences each
2711 amﬁs ézgd%f DODRBY 242
2. mmdﬂé, QDBRTHY
3. ATTT, TFLTTOTOTHY
4. @éo&mgJ 551_%0053 @3355@ dié DB eazjosdojamfg ORI VPO TS @?ps@@p
(Rogm DTRCIROON)
281, 2w ﬁoﬂ@ﬁ @5@371%35334 TS Y TVTORT @mmoémm& TTBOREN @m@mmgcs 2+2
2. QW ﬁoﬂ@ﬁ DTWOD B @z?p%oja mwm«;m& TSR FTZVOH B[BRBITT
3. 9T YUTOINT FOTIRONTIY, TROTLY ATPOD [RWSTI
4, QT gag wcﬁmaﬁmfab& REPFN AZOOWFHLD BTV [RWIT:
5. T 3ReRHNE DB A TRABRTTY TH0D BIWTS:
6. TOONFITFTEODT, WFPOTLD QW FTPOH SRWITI
(CSRP)TOTTL_ T NBTHBOILODN)
29(a) =6rs TO3T (DRTBo3eodR) 1+1
b) aemIE TS (BTHCLROON) 1+1
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30]1. o3eeRIBOIND emc@beémf TIOD e FeoQFORTT 242

. SREBRNTCIN AWFTTWON TFWT FOORF N

. 08ReBRRFOIN 5&?@5&0350?\53

. O8REBFRFOIN ATOITONT

. O3ReBRBOIN a;éb%éﬁ JOWORRT

. O3ReBRNIOIN ATET éﬁm%@ﬁ%@%oxabi WORPORT

. 03ReRRIOIN FPTAE FOHOIPNT (030R)TOTETR TP DTTFOIRONTN)

31[l. STNS WTTVIN /AN LTINAD 242
. TFTE OPONT

. T0BON0T, ©R maa/soméuce RPBIONT

. RPNTS 3Teded

. O3ReBROL BRBS (03PPTTTR T NVTEHOIROON)

32|I. TomwmRZT DRI, FROTRRRIRD o, 2+2
. IRT, WOBNG e I0POTLIDY
. D9BTOOT TR

1.
2
3
4
5
6
7
1
2. BoTeE3Nned
3
4
5
6
1
2
3
4. BBOONT FOONF (CIWRTOTAR TLP DTTHAEARODN)

33 3%:3 WOTBTRST a-msé;azs. 1+3
l. BBTTT VAT

2. BOORFITWOD Be3I0ed
3. 308/Q595T ejoﬁ%
4. 03T VT 2eTTED

5. B39BedRodd dOEFNED

6. J053

7. TBORPTNAE TOITOF ODTLY

8. ATLPNIT Y (RVIWJYTTTH TRTY DTTFROIROON)

34[D) [T IR ﬂoi@mmj%, BT YOOI, TP, TSI DB SIVB WO ONTLIeR. (1+1
2) BOTEIN BIWOT TOIRERTN DY THLNTT), ARWROBOITLIER. LWITT TODFE 1+1)
TROTNBOSTLIeR.

3) ST TFD D3FHNTLER.

4) [T BT BOFEXRRNT TP ROTOBITE 523%@%71%3 @ﬁ%ﬁ%ﬂo, ANG 0L CTID mzssmwo
BB WG AR LISTBRERR[OITLCR.

5) BT BT TR, WITDTNVDWEPNTY, WIINY 3eednt EReRBOWN DI WIINONH
BRODTOITIPTNTOITLICR.

6) O TIHTPZTION JROTINIVOWTOZ T TFF BRBBOSTLIER.

7) S0, TPRT TIT DETFTO YUVOINT AWIFF BROOTLCR (CIPIYTWTH L)

35[1 WD LoD BONITRYE CRBG AORBR@ONG. 30083 SO0 0088 CRTS (1+1
BOBTBITONT. 1+1)
2. 20%e00D SALTZT FOWEIT JRTEOT), WINRORT. B,0DET [SPTLRTY [T [IPIFTLODZY,
MBIT L3S DT LnFnen SToZ Beomwedd SPRILITRMTT.

3. 2P&HETIB) BTTIOWW. DFOTT, DOLOTOTI WNINRYR IZOT FOTCTBI), TROTEE BIBED
MBDNQ, P0IBT [T T3, TN

4. LTI KIADATIR), TLOTITT. BOTWT, WVTO FOBON RITW), ACLIWITVTING. 33,0088
[P0 AROD B dz;p TOMEINOWOT FeTO 2CENT xoaﬁéoja RITZ, TOTEE LTINS,
(CRPTTTR ToLP)
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36]l. TIICH BB, 2. Ik DA T8, 3. SONOD BB, 4. SORODMR/OBOT BoY 242
5. BOTTBT, THOWT BK, 6. MRFF/ITITVTD SFRTI, THWT B
(CIPVTTTL_Toep HBTFEER0OR)

VII Answer any 3in 20 or 25 Sentences each

37|l c3ReRART, 2. FOTWRNE, 3. AYOD IVFIE, 4. ITeFOTDE, 5. ICDOGMRT (LWITO3RLODN) | 3+5

38[RTen08 ToTNon WwRIRON:: 543
1) WTTT FOWOBRTR, DTN WATBARRTOOT BRFVMWOFODNT), ANOTRE[T BOLTIIT.
2) BIRRY, FTRI FIFBATRY, INOTRINPTOOT ©T/ ITFHAB! TOING W7}
RROTONIVROY.

3) awog st TS -RTBNG TROT DITRIT ejﬁﬁ%?o‘n AV LROMTT.

4) BE3LY) mc&@eﬂoﬁm O AW LA CTT aeojarzswawéﬁ@ﬁ zs"‘aa’és?)a WBNA, BT MONS
TOHTNTO mtﬁﬁﬁ VY BPRERWTT.

5) @ty ROFTIIN ;'%déoﬁa&ol QEITT. DFOTB JTPFOON [PNFTIFS [PBLO AOFH
QONTNRYNBTOOT WTT IWSLIONT, BT WOWORIW T,

BT3008 FOTHITOD TORIBPONE::

1) BTH003 FoXTZIR) m@&s BSTESNY ;36950335301 ONROF BeTNVPYTOOT @oﬁarammsg
QYO THO VPRENTRIOW. I VW APOFT SNTIRNT FIONTI, DL

2) Bx008 ROPUBOIN IPFOROL, TOD JCRNTNVOTOWNR SO 03T aa@éwpﬁ

O EWPNY. AW FoFLIOD FYTEFON SWIBVNW FRTL TSPNRIR, HNETLD OFY)
BREIRDPOY.

3) o TUS DI PORFNYR TS TT, ARPYTOOT WY FOIROTIY [PTT FOWOTRER),
WOTFRIPRERGLD &&mde

39|l ez w@éwﬁ A+4
2. @oﬁ% waeiﬁ%ﬁo

3. wd,raém TOTJES

4. e WD) LF S TOHEOD

5. 808, AGOFT

6. W3 Be0d JOeg

7. emc&raém Qe

8. NWTBREN wTOT (LITFCIROON)

40(1. ROF B3NS dnwn 4+4
2. QuTIe3NY AT,

3. LBTRT eﬁzi

4. adegéwaﬁo& B03® RT3
5. AWFTTO RONZ/I

6. OTOTIOT BOTRIODN WYF
;. moﬁaﬁ%

. ONTRON (LWTHBOIROHN)

41 (.00 NTT, ©He HeR03ROTT D0eOR JEFOTON DVEOTTAOT TOTSIVL TEAT d.@é%& 233 1+3+4
DTWD

BB Ao e TW WeTHTE WO

WIIT [Y

. 333%7139@ DB BB

. BPWFLODNOI ZyTeetdod W

. BT DB WIRIT JWOFINR

. B5S ANOOH GOTEBTIED

. PUBOIRENATI I T[FOIT VHIIND (RBTHOIROHN)

RS B S N A
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